

EUGENIUSZ WACHNICKI (Kraków)

On some limit properties of the solution of the Riquier problem for the iterated Helmholtz equation in the half-plane

1. Let $R_+^2 = \{(x, y) \mid y > 0\}$. We consider in R_+^2 the following function

$$(1) \quad u(f, g; x, y) = \frac{1}{2\pi} \int_R f(s) [2cr^{-1} yK_1(cr) + c^2 yK_0(cr)] ds - \frac{1}{2\pi} \int_R g(s) yK_0(cr) ds,$$

where $r^2 = (x-s)^2 + y^2$, c is a positive number, K_ν is the MacDonal function of index ν ([4]) and f, g are given functions defined in the set R of all real numbers.

In paper [6] it has been proved that the function u is a solution of the equation

$$(2) \quad (\Delta - c^2)u(x, y) = 0$$

in R_+^2 satisfying the following boundary conditions

$$u(x, y)|_{y=0} = f(x), \quad \Delta u(x, y)|_{y=0} = g(x),$$

where f, g satisfy some assumptions.

Let us denote by L_p , $1 \leq p \leq \infty$, the class of functions with a finite norm defined as follows

$$\|f\|_p = \begin{cases} \left(\int_R |f(s)|^p ds \right)^{1/p} & \text{for } 1 \leq p < \infty, \\ \sup_{s \in R} |f(s)| & \text{for } p = \infty. \end{cases}$$

In the present paper we shall prove a theorem concerning an estimation of $M_1(f, g; y) = \|u(f, g; \cdot, y) - f(\circ)\|_p$, $M_2(f, g; y) = \|\Delta u(f, g; \circ, y) - g(\circ)\|_p$ according to properties of the functions f, g . Moreover, for the case $g = 0$ in R we prove an converse theorem (in a sense).

This problem for the biharmonic equation was investigated in paper [2].

2. Let ω denote a function of the type of the second modulus of

smoothness ([5]). Let $H_2^\omega L_p$ denote the set of all functions $f \in L_p$ for which

$$\|f(\circ - s) - 2f(\circ) + f(\circ + s)\|_p \leq \omega(|s|).$$

We prove

THEOREM 1. *If $f \in H_2^\omega L_p$, $g \in L_p$, then*

(a) $u \in C^\infty(R_+^2)$,

(b) $(\Delta - c^2)^2 u(x, y) = 0$ in the domain R_+^2 ,

(c) $M_1(f, g; y) \leq \frac{2}{\pi} \omega(y) + \frac{y}{\pi} \int_y^\infty \frac{\omega(s)}{s^2} ds + ky$ for $y > 0$,

$$\text{where } k = \frac{3}{2}c \|f\|_p + \frac{1}{2c} \|g\|_p.$$

Proof. Applying the Hölder–Minkowski inequality, it is easy to verify that the following integrals

$$\int_R f(s) D_x^m D_y^n (yK_0(cr)) ds, \quad \int_R f(s) D_x^m D_y^n (yr^{-1} K_1(cr)) ds, \quad \int_R g(s) D_x^m D_y^n (yK_0(cr)) ds$$

are almost uniformly convergent in R_+^2 for arbitrary non-negative integers m, n .

Hence, by the formulas ([4])

$$(3) \quad \frac{d}{dt} (t^\nu K_\nu(t)) = -t^\nu K_{\nu-1}(t), \quad \frac{d}{dt} (t^{-\nu} K_\nu(t)) = -t^{-\nu} K_{\nu+1}(t),$$

$$K_{\nu+2}(t) = \frac{2\nu}{t} K_{\nu+1}(t) + K_\nu(t), \quad K_{-\nu}(t) = K_\nu(t),$$

we get (a) and (b).

We shall prove that (c) is true. In view of the properties of the convolution ([1]) the function $u(f, g; \circ, y) \in L_p$ for every $y > 0$. Moreover,

$$\left\| \int_R f(s) yK_0(cr) ds \right\|_p \leq \|f\|_p \int_R yK_0(c\varrho) ds,$$

$$\left\| \int_R g(s) yK_0(cr) ds \right\|_p \leq \|g\|_p \int_R yK_0(c\varrho) ds,$$

where $\varrho^2 = s^2 + y^2$.

By the formula ([7])

$$(4) \quad \int_0^\infty t^{2m+1} (t^2 + z^2)^{-n/2} K_n(at^2 + z^2) dt = \frac{2^m \Gamma(m+1)}{a^{m+1} z^{n-m-1}} K_{n-m-1}(az),$$

where $m > -1$, $a > 0$, $z > 0$, and $n = 0, 1, \dots$, we have

$$\int_0^{\infty} y K_0(c\varrho) ds = \frac{\pi}{2c} y e^{-cy}, \quad y > 0.$$

Hence

$$\frac{1}{2\pi} \left\| c^2 \int_R f(s) y K_0(cr) ds \right\|_p \leq \frac{1}{2} c \|f\|_p y, \quad y > 0,$$

and

$$\frac{1}{2\pi} \left\| \int_R g(s) y K_0(cr) ds \right\|_p \leq \frac{1}{2c} \|g\|_p y, \quad y > 0.$$

Further, by (4), we obtain

$$\frac{1}{\pi} \int_R c y r^{-1} K_1(cr) ds = e^{-cy}, \quad y > 0,$$

and

$$\begin{aligned} M_1(f, g; y) &\leq \left\| u(f, g; \circ, y) - \frac{1}{\pi} \int_R f(\circ) c y r^{-1} K_1(cr) ds \right\|_p + \|f\|_p |e^{-cy} - 1| \\ &\leq \frac{1}{\pi} \left\| \int_R [f(s) - f(\circ)] c y r^{-1} K_1(cr) ds \right\|_p + \frac{c^2}{2\pi} \left\| \int_R f(s) y K_0(cr) ds \right\|_p \\ &\quad + \frac{1}{2\pi} \left\| \int_R g(s) y K_0(cr) ds \right\|_p + \|f\|_p |e^{-cy} - 1| \\ &\leq A + \left(\frac{3}{2} c \|f\|_p + \frac{1}{2c} \|g\|_p \right) y, \quad y > 0, \end{aligned}$$

where

$$A = \frac{1}{\pi} \left\| \int_R [f(s) - f(\circ)] c y r^{-1} K_1(cr) ds \right\|_p.$$

We remark that

$$\begin{aligned} A &= \frac{1}{\pi} \left\| \int_R [f(\circ - s) - f(\circ)] c y \varrho^{-1} K_1(c\varrho) ds \right\|_p \\ &= \frac{1}{\pi} \left\| \int_0^{\infty} [f(\circ - s) - 2f(\circ) + f(\circ + s)] c y \varrho^{-1} K_1(c\varrho) ds \right\|_p. \end{aligned}$$

By Hölder–Minkowski inequality we get

$$\begin{aligned} A &\leq \frac{c}{\pi} \int_0^{\infty} \|f(\circ - s) - 2f(\circ) + f(\circ + s)\|_p y \varrho^{-1} K_1(c\varrho) ds \\ &\leq \frac{c}{\pi} \int_0^{\infty} \omega(s) y \varrho^{-1} K_1(c\varrho) ds, \quad y > 0. \end{aligned}$$

Using the formula ([4])

$$(5) \quad K_\nu(z) = \frac{2^\nu \Gamma(\nu + 1/2)}{z^\nu \sqrt{\pi}} \int_0^{\infty} \frac{\cos zt}{(1+t^2)^{\nu+1/2}} dt$$

we have $\bar{K}_1(c\varrho) \leq (c\varrho)^{-1}$; hence

$$A \leq \frac{y}{\pi} \int_0^{\infty} \frac{\omega(s)}{\varrho^2} ds \leq \frac{y}{\pi} \int_0^y \frac{\omega(s)}{\varrho^2} ds + \frac{y}{\pi} \int_y^{\infty} \frac{\omega(s)}{s^2} ds, \quad y > 0.$$

From the inequality

$$(6) \quad \omega(\lambda s) \leq (\lambda + 1)^2 \omega(s)$$

we get

$$y \int_0^y \frac{\omega(s)}{\varrho^2} ds \leq \int_0^y \frac{(s+y)^2}{y(s^2+y^2)} ds \omega(y) \leq 2\omega(y)$$

and

$$A \leq \frac{2}{\pi} \omega(y) + \frac{y}{\pi} \int_y^{\infty} \frac{\omega(s)}{s^2} ds$$

and finally (c).

THEOREM 2. *If $f \in L_p$, $g \in H_2^\infty L_p$, then*

(a) $u \in C^\infty(R_+^2)$,

(b) $(\Delta - c^2)^2 u(x, y) = 0$ in R_+^2 ,

(c) $M_2(f, g; y) \leq \frac{2}{\pi} \omega(y) + \frac{y}{\pi} \int_y^{\infty} \frac{\omega(s)}{s^2} ds + k_1 y$, $y > 0$,

where $k_1 = \frac{1}{2}c^3 \|f\|_p + \frac{3}{2}c \|g\|_p$.

Proof. From formulas (3) it follows that

$$u(f, g; x, y) = \frac{1}{2\pi} \int_R f(s) c^4 y K_0(cr) ds + \frac{1}{2\pi} \int_R g(s) [2cr^{-1} y K_1(cr) - c^2 y K_0(cr)] ds,$$

hence, by the proof of Theorem 1 we get the assertion of Theorem 2.

3. Now we consider the case where $g(s) = 0$ for every $s \in R$. Let

$$u(f; x, y) = u(f, 0; x, y) = \frac{1}{2\pi} \int_R f(s) [2cr^{-1} y K_1(cr) + c^2 y K_0(cr)] ds.$$

From Theorem 1 we get

THEOREM 3. If $f \in H_2^\omega L_p$, then

$$\|u(f; \circ, y) - f(\circ)\|_p \leq \frac{2}{\pi} \omega(y) + \frac{y}{\pi} \int_y^\infty \frac{\omega(s)}{s^2} ds + \frac{3}{2} c \|f\|_p y$$

for $y > 0$.

In the sequel we consider (in a sense) the inverse problem to the problem of Theorem 3. First we prove a theorem of the Hardy-Littlewood type.

THEOREM 4. If $f \in H_2^\omega L_p$, then

$$\left\| \frac{\partial^2 u(f; \circ, y)}{\partial x^2} \right\|_p \leq 5 \frac{\omega(y)}{y^2}, \quad y > 0.$$

Proof. Using formulas (3), we get

$$\begin{aligned} \frac{\partial^2 u(f; x, y)}{\partial x^2} &= \frac{1}{2\pi} \int_R f(s) [2c^3 y(x-s)^2 r^{-3} K_3(cr) + c^4 y(x-s)^2 r^{-2} K_2(cr) \\ &\quad - 2c^2 yr^{-2} K_2(cr) - c^3 yr^{-1} K_1(cr)] ds \\ &= \frac{1}{2\pi} \int_R f(x-s) [2c^3 ys^2 \varrho^{-3} K_3(c\varrho) + c^4 ys^2 \varrho^{-2} K_2(c\varrho) \\ &\quad - 2c^2 y\varrho^{-2} K_2(c\varrho) - c^3 y\varrho^{-1} K_1(c\varrho)] ds. \end{aligned}$$

It is easy to verify, by formula (4), that

$$\int_R [2c^3 ys^2 \varrho^{-3} K_3(c\varrho) + c^4 ys^2 \varrho^{-2} K_2(c\varrho) - 2c^2 y\varrho^{-2} K_2(c\varrho) - c^3 y\varrho^{-1} K_1(c\varrho)] ds = 0,$$

hence

$$\frac{\partial^2 u(f; x, y)}{\partial x^2} = \frac{1}{2\pi} \int_0^\infty [f(x+s) - 2f(x) + f(x-s)] [2c^3 ys^2 \varrho^{-3} K_3(c\varrho) + c^4 ys^2 \varrho^{-2} K_2(c\varrho) - 2c^2 y\varrho^{-2} K_2(c\varrho) - c^3 y\varrho^{-1} K_1(c\varrho)] ds.$$

Further, by Hölder–Minkowski inequality and (6) we get

$$\begin{aligned} \left\| \frac{\partial^2 u(f; \circ, y)}{\partial x^2} \right\|_p &\leq \frac{1}{2\pi} \int_0^\infty \omega(s) [2c^3 ys^2 \varrho^{-3} K_3(c\varrho) + c^4 ys^2 \varrho^{-2} K_2(c\varrho) - 2c^2 y\varrho^{-2} K_2(c\varrho) - c^3 y\varrho^{-1} K_1(c\varrho)] ds \\ &\leq \frac{\omega(y)}{2\pi y^2} \int_0^\infty (s+y)^2 [2c^3 ys^2 \varrho^{-3} K_3(c\varrho) + c^4 ys^2 \varrho^{-2} K_2(c\varrho) + 2c^2 y\varrho^{-2} K_2(c\varrho) + c^3 y\varrho^{-1} K_1(c\varrho)] ds. \end{aligned}$$

Applying formula (4) and (3) we can calculate that

$$\begin{aligned} &\int_0^\infty (s+y)^2 [2c^3 ys^2 \varrho^{-3} K_3(c\varrho) + c^4 ys^2 \varrho^{-2} K_2(c\varrho) + 2c^2 y\varrho^{-2} K_2(c\varrho) + c^3 y\varrho^{-1} K_1(c\varrho)] ds = \pi e^{-cy} (6 + 4cy + c^2 y^2) + 6c^2 y^2 K_2(cy). \end{aligned}$$

It follows from formula (5) that $c^2 y^2 K_2(cy) \leq 2$ for $y > 0, c > 0$. Since $e^{-cy} (6 + 4cy + c^2 y^2) \leq 6$ for $y > 0, c > 0$, then

$$\left\| \frac{\partial^2 u(f; \circ, y)}{\partial x^2} \right\|_p \leq 5 \frac{\omega(y)}{y^2}$$

which ends the proof of Theorem 4.

Using the results of paper [3], by Theorem 4 we get

THEOREM 5. *Let $f \in L_p$. If*

$$\|u(f; \circ, y) - f(\circ)\|_p \leq \omega(y), \quad y > 0,$$

then

$$\omega_2(f, t) \leq Mt^2 \int_t^1 \frac{\omega(s)}{s^2} ds, \quad 0 < t < \frac{1}{2},$$

where $\omega_2(f, t)$ denotes the second modulus of smoothness of the function f and M is a positive number independent of t .

References

- [1] P. L. Butzer, R. J. Nessel, *Fourier analysis and approximation*, vol. I, New York and London 1971.
 - [2] V. I. Gorbaičuk, *Conditions of solvability of the Riquier problem for the biharmonic equation in the half-plane and limiting properties of its solution* (in Russian), Dokl. Akad. Nauk Ukrain. SSR Ser. A, no. 7, Kiev 1983.
 - [3] —, *Direct and converse theorems of approximation by solutions of boundary problems for some elliptic equations* (in Russian), Approximation Theory of Functions, Proc. of Int. Conf., Moscow 1977.
 - [4] N. N. Lebedev, *Special functions and their applications* (in Polish), PWN, Warsaw 1957.
 - [5] A. F. Timan, *Approximation theory of functions of a real variable* (in Russian), Moscow 1962.
 - [6] E. Wachnicki, *On the Riquier problem for the equation $(\Delta - c^2)u(x, y) = 0$ in the half-space*, Rocznik Naukowo-Dydakt. WSP w Krakowie, fasc. 51, Kraków 1974.
 - [7] G. Watson, *A treatise on the theory of Bessel functions*, Cambridge 1962.
-